B C I J K
2 acc X 3178 C6A 2466 9A1
3 acc y -1074 FFFFFFFBCE 282 119
4 acc z 8536 2158| 17789 457C
5 Vr 2935 total 20536 5038
6 offset -18
7 Temp 21808 Calcuration formula
8 Vce 17348 [2=DEC2HEX(C2)
9] V acc x 62.3 | mV J2=C2/64*C2/64
10| V acc y -24.1 [ mV K2=DEC2HEX(J2)
11| V acc z 161.4 | mV C19=(C2-3$C$6-$C$16)*$1$17/(1000*$C$17)
12| V _com 1.819] V C24=J17*C8/1000000
13| 'V Vvr 28.0 | mV C25=((C7-C6)*$I$17) / 1.32 / 1000 - 273
141 'V Vcc 3.640| V
16| (Vnut-offset) 0 adc conv [ Temp.
17 Gain 100 18.311 201.416

[u V/bit]

19 acc X 0.585] G 58.52 |mV
20 acc y -0.193 | G -19.34 | mV
21 acc z 1566 | G 156.63 | mV
22 Vin 54.072 | mV
24 Vcc 34941 V
25 Temp 29.77
27| Total G 1.683 |




